
- 1 1 Sinx 1

Tyayyua f(x) = sinx
,XIT M

f(xlsiux
,
0x[It

y = 1
·0 ,

1) E
20

,17: increasing
&

· 10,sinx----in >
[E , iT] : Y decreasing

f(x) = sinx
,
XER = - 1 Melina

O

[,: decreasing

(x
, sinx) x-IR ,2): increasing

sinx + cos2X = 1
'Aya, Posing Tinx MineMix Casino

y =10 ,
)

=> sinx <sin2x + 103X = 1 d %

- =
(

Es(0psin2x[1 .

=
x = k . T

,
KETL 10, -1) (3 ,

-1)

OX = 2π

· [KoT[ 21 =x=

f(x) = sinx
,

0X2+ (i)=(sinE) ETsinx
= sinty = Ve f(x) = 1() sinx = 1

↳ sinx = sin
y = 1 10 ,11

=> X =[= ·
0 - 2kπ + 12D=> Isinx1 = 1
0 = (2k + E) . T-2π

3 =1=> =

0
f(x) =ciux

,
02X2π

f(x) =
- 1 Esiny = sin= -1 [sinx11 xX-

= 0 - (2k +3). 12π = k= 0 =·

https://goodnotes.com/


f(x) = sinx
,
02X[2 f(x) = sinx

,
21X14T

① f(x) = sinx givo

sin(2+ ) Esino = o

replodiky jurgeyo

rayypa : f(x +2π) = f(x) ,
yakPxAR sin(3)sin=

tagy : sin(s) sinT = 0

1 sin(sin() = -1

y = 1 Ext sin (4) sin(2) =0
.

% -y A = (2+, 0)eTsinxn = f(x) B = (51 , 1) E Tsinx

r = (3π ,
%)t Tsinx

D = (E,
-1) ETsinx

y= -1
E = (4π , 0) = Tsinx

10, -1) (3 ,
-1)

1

10,1)
(S y =

10,
0↳ >

10,-1) (1-113y = -1

https://goodnotes.com/


Tpaynha f(x) =sinx
,
X,

=

·-

https://goodnotes.com/

